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(vii) YT — 3T & 799 GE&1 7 T 18 & F97 di7-d17 371 & & | §93 3w o7 50 VIssl 5 3
g1

(viii) YT — 37 & J99 G119 T 24 3 J97 Qrer-qier 3% & & | §9% 3 I 70 9151 7 37
g1
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General Instructions :

(i)  The question paper comprises two Sections, A and B. You are to attempt both the
sections.

(ii) All questions are compulsory.

(iii) There is no choice in any of the questions.

(iv) All questions of Section A and all questions of Section B are to be attempted
separately.

(v) Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

(vi) Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 19 to 24 in Section A are five-marks questions. These are to be
answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one most
appropriate response out of the four provided to you.

(x)  Question numbers 34 to 36 in Section B are two-marks questions based on practical
skills. These are to be answered in brief.
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SECTION - A

1. Ucshd 90l & 1% S T A 3R 0] T e | 1

Write the name and molecular formula of the fourth member of alkane series.

2. I UeieT qodT i g SHRY | 1

List two unisexual flowers.

3. U TR EeT H 3UTEeh Ted & TIT Uil T W FH B € 2 1

Why do producers always occupy the first trophic level on every food chain ?

4, IO IUUT FRT I Uit o I T[ON et AR | 379+ 3T hl g & folw fomor ama
Fitau | 2
List two properties of the images formed by convex mirrors. Draw ray diagram in
support of your answer.

5. 3Tt 3 UATERYT P A fohd B A & 17 T FUE B g & 6w 9 SRt
ferf@m | 2

“Industrialisation has adversely deteriorated the environment.” Give four reasons in
support of this statement.

6. “faushl A=<l 7 AFaHT: I A & [hd YR dMi-ed 6 2 9899 § =

FHIT | 2
How did ‘Chipko Andolan’ ultimately benefit the local people ? Explain briefly.

7. (a) VHEHE GHE Hi uredmen fefau | Efaied o sufer seaiee 99E e

0 H OH
Il I I
()  H-C-H (i1) H—(|3—C=O
H
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(b) T BT €, 59 {ohdll WAl H &oTehl TRH THI oihd 3TH I5-98 Hh 5% &R
KMnO, foerm fiemn Sar € 2 6 sitdfsran § ek KMnO, foeram &t sifvwe =1

3o T |
(a) Define the term functional group. Identify the functional group present in
O H OH
I (.

i) H-C-H (ii) H—(|3—C=O
H
(b) What happens when 5% alkaline KMnO, solution is added drop by drop to
warm ethanol taken in a test tube ? State the role of alkaline KMnO, solution in

this reaction.

8. 3 HIeH AT T AW R ] G feifau, fSraeh 9 & Qe e <3fiet’ o § 3R
fSTaeh 2107 § 31 e A & | T8 ST H & forw o 5/ gl €, 59 ¥ it e @i
H,SO, & T T fohal ST ¢, g Tferd T FHs0T faige 3 a7 et W
I o1 A ffgw | g9 sfufshan | wig H,SO, t JYfHehT i Seei@ i iy |

Write the name and molecular formula of an organic compound having its name
suffixed with ‘ol’ and having two carbon atoms in its molecule. Write balanced
chemical equation to indicate what happens when this compound is heated with excess

conc. H,SO, and the name of main product formed. Also state the role of conc. H,SO,

in the reaction.

9.  HE AT X MYHF AT RN & AL e 3 g T9g A fem ¥

(a) THH RIS =g i@y |

(b) TE T I & AT ST 2 T 2

(c) SETE X (i) T@ Y (SR o= 2, 6) iR (i) T 2 (FoRia fo=ama
2, 8,7) | RHAT FHAT &, A T ATeT AT b G fArET |

An element ‘X’ belongs to third period and second group of the Modern Periodic

Table.

(a)  Write its electronic configuration.

(b) Isit a metal or non-metal ? Why ?

(c) Write the formula of the compound formed when ‘X’ reacts with an element
(1) Y of electronic configuration 2, 6 and (ii) Z with electronic configuration 2, 8, 7.
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10. T % SITh0T BT W S99 Tf@W | 3k 37ed RN i [aehidd - | awll & 6
et TUTEH T SUANT FRAT AT & 2 $9 GoT TUTEH UR SR HEH H AW SR e w5 S
HIT | 3 3T AROM § &1L, U 31X STETU (STLTY) el feere € 2 3

State the main aim of classifying elements. Which is the more fundamental property of
elements that is used in the development of Modern Periodic Table ? Name and state
the law based on this fundamental property. On which side of the periodic table one

can find metals, non-metals and metalloids ?

11. FE@E, 5
(a) TORNRET I 9T H e ST E 2
(b) T I YONT: FIepa SRS A=) T ovall &1 ST & 2
(c) URTFE eF T TRISTET & ST & 2 3
What happens when
(a) Planaria gets cut into two pieces ?

(b) A mature spirogyra filament attains considerable length ?

(c)  On maturation sporangia burst ?

12.  STgAESt % AT & W fafaw | 3wt e g § 2 39 AIRT ST S GeT § S
T | 3

Name the reproductive parts of an angiosperm. Where are these parts located ? Explain

in brief the structure of its female reproductive parts.

13.  <i0Teh ST 9T € 2 S9! OR faeivand fafan | 3

What is sexual reproduction ? List its four significances.

31/2/2 5 [P.T.O.



14.

15.

16.

17.

31/2/2

STIfT 33T ST & 2 T Wisha § STSTe foraet Ua Uiehiceh aR0T 3 fHehT i Geid § AmeT
HIT |

What is speciation ? Explain in brief the role of natural selection and genetic drift in
this process.

TS TRTOT S STIITE TIRI0T o ol J1 3Tl bl Gt AIietehl o &9 § S1ET | HSel o HeX
= Tt St atet et SR SRR st arer Ut & FeHtoT arel JanT | F, Satd/dier 9 orer |
et SISt SfTet e St FTcTSTer/3TdTe S/ o 2

List two differences in tabular form between dominant trait and recessive traits. What

percentage/proportion of the plants in the F, generation/progeny were round, in

Mendel’s cross between round and wrinkled pea plants ?

Ffe fordt gdor g1 3G T Ty, fawar st Tt oft e o forw, gdor g1 = widfersr w2
1 ST 31X BT &, ff TUUT % WK T 3ol HITTT | 310 ST i g & feaw fevor s
i | 39 YR % SU0T AT F8l STINT T S1d € 37 T 2

If the image formed by mirror for all positions of the object placed in front of it is
always virtual and diminished, state the type of the mirror. Draw a ray diagram in
support of your answer. Where are such mirrors commonly used and why ?

o oo [a¥a

TRET | Uedieh o [oTd SRUT |ied T&ld H ST HifT
(a) 3w AR

(b)  forcifer gt

(c) TR I fenfeamr

Explain in brief the reason for each of the following :
(a) Advanced sun-rise
(b) Delayed sun-set

(c) Twinkling of stars



18. R T il 3R U™ & foua § ==l Sid qH 9181k Heled = Bl § ame Jod J9g
STTeTeH! S8 Sl 9d o 9 H PCRA (USifoTam TT0T ST9uM S8IM) % A1eeH | |ardd
a7 Y | ST ST A % |, ST R ael &l A, fommea STt | S T W,
ST e St o, ST 3 ST TrarSTt ¥ 3919 o e hT G e |

IURERT TTRITT Sl U@+ o TN Al ST 7T J1 o IR K11

(a) STETeH $6 UIhideh TATEA &, T &0 3¢ TXIeTd e ol STavaehdl o1 & 2
(b)  STETeHr SeT I S o TSl &1 ST bl Gl SHET |
(c) ST R YRIRTA ST Hoddl T Sooid HInTT | 3

While discussing about coal and petroleum a teacher told his students about PCRA’s
(Petroleum Conservation Research Association) guidelines to save the fossil fuels
while driving vehicles. Deepa was going to her school with her mother who was
driving car. At the traffic signal, when the light was red, Deepa suggested her mother

to switch off the engine.

After reading the above passage, answer the following questions :

(a) Fossil fuels are natural resources, then why do we need to conserve them ?
(b) List any two ways of saving the fossil fuels.

(c) State two values exhibited by Deepa.

19. 10 cm 9 & fohdl foma & 25 cm T 3 & 31GdA o ¥ fohaAt g0 W @M ST, T
3T Ut o & 20 cm T W I | WidTaw 31 FEs A aRepferd iy |

3T I I YT o oI SRieRT et | wifafersr s 391 o folT foheor et witae 31X 39

iR o ShifeT | 5

At what distance from a concave lens of focal length 25 cm a 10 cm tall object be
placed so as to obtain its image at 20 cm from the lens. Also calculate the size of the
image formed.

Draw a ray diagram to justify your answer for the above situation and label it.
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20. (a)
(b)

(©

(a)
(b)

©

21. (a)

(b)

(a)
(b)

HEA = 3T FART % foTd FeT I &1 /T AT ? Tk &1 HROT [Aray |

Heot 7 210 WA & fofw 7ex o 5 fouaidt gvar @efon o1 3w foar 38 & a1
et ST |

TT W AT HINT o HeeT 7 370+ TR & fF9 TR =TT sk g 39T o
TTRTOT ST} STET ST B § |

Why did Mendel choose garden pea for his experiments ? Write two reasons.

List two contrasting visible characters of garden pea Mendel used for his

experiment.

Explain in brief how Mendel interpreted his results to show that the traits may be

dominant or recessive.

ToIT IERIRT ST T&T0T T ¢ 2 SHe! 0T ARy |

“TZEY I & YRR & (G001 1 U ST § 7 TH FHYT F A, NG H
TEIdl ¥ ST H ST I Dl AT Feh DI | [hat ey o Ueqor o forg
T 3MEYTF Tt bl el TR |

What is dispersion of white light ? Stae its cause.
“Rainbow is an example of dispersion of sunlight.” Justify this statement by
explaining, with the help of a labelled diagram, the formation of a rainbow in the

sky. List two essential conditions for observing a rainbow.

22. U SN T I T 31aael SUUT A, B 31X C € STt ek gRat shaet: 10 ecm, 15 cm
AT20cm e |WWW$WWWWW,WWW—W 10 cm, 20 cm
3R 30 cm & foru, wfdfemsr s=m1 @9 & foau ugi w=a € | SRoT 9ed T R e e &

I JIT
(a) i fafi= ferar-gRat o fote gau/gUolt st we=f-e St —1 3Trere 1 wfdfers e |
(b) T AN IUUT H ¥ S FEANC STER! I SAH/HAE-IT & B & AT Wirahar af
ST |
(c) TUUT BRI fom g2 10 cm 3R 20 cm % o0 fopdt forar o1 wfdfersr o= 391+ & forw
foh0T o witaT |
31/2/2 8



23.

24.

31/2/2 9 [P.T.O.

Suppose you have three concave mirrors A, B and C of focal lengths 10 cm, 15 cm and
20 cm. For each concave mirror you perform the experiment of image formation for
three values of object distance of 10 cm, 20 cm and 30 cm. Giving reason answer the

following :

(a) For the three object distances, identify the mirror/mirrors which will form an
image of magnification — 1.

(b)  Out of the three mirrors identify the mirror which would be preferred to be used

for shaving purposes/makeup.

(c) For the mirror B draw ray diagram for image formation for object distances

10 cm and 20 cm.

I Fag T & 2 TieTw AT Wied, 36 WeHAT 5T FB THR o AR i S 6 oI ot
! et ST | A9 ST T aredt | S &1 g R 39 Tk g1 ST S E
What is vegetative propagation ? List with brief explanation three advantages of

practising this process for growing some types of plants. Select two plants from the

following which are grown by this process :

Banana, Wheat, Mustard, Jasmine, Gram.

(a) 3O U9 O qEAferdr € T I ede T8 faues € | 37 At § e, TeHiEs
3T AT WG T foea R & | WA Hifw o6 [af @Aferar § s FifTeht
TEE Y feewy U a7 W™ 91 % YA FRT TS Wl gRT 6T TR
HAT |

(b) TSR ST o T WGHT T TN T T THH I 1 HRUT [AMET |

(a) You have three unlabelled test tubes containing ethanol, ethanoic acid and soap
solution. Explain the method you would use to identify the compounds in

different test tubes by chemical tests using litmus paper and sodium metal.

(b)  Give the reason of formation of scum when soaps are used with hard water.



HT -

SECTION -B
25. o fere meRa gRY Rt Tgasistt siet & Yo7 o fafiT 9 7 aTeE s & fotT et
T | A 3 UET % B Aeede w07 KU T E
A. SIS A I T T O o) e S |
B. i ofiST ol I WU X 5 fafi=T 9T T UequT =hifsTy |
C. UWifew 4 $5 W oS AT |
D. 3y ST B 0 ifSw, Mol sog @ S o efhy 3R U fo7 o & T@n &4

T |
T O BT W P
(a) C,A,D,B
by C,D,A B
o0 ACD,B
d ACB,D

The students of a class were asked by the teacher to study the different parts of an
embryo of an angiosperm. Given below are the essential steps for the experiment :

A.  Soak the seeds in plain water and keep them overnight.
B.  Cut open the soaked seed and observe its different parts.
C. Take some healthy seeds in a petri-dish.

D. Drain the excess water, cover the seeds with a wet cotton cloth and leave them as
it is for a day.

The correct sequence of these steps is

(@ C,AD,B
(b) C,D,AB
c) ACD,B
d ACB,D

26. Wil | 9 SR H TSR, 3Te], ThTehal, Foll, TARY 3R &7F W € | 319 9 i JoeTd

AT (& o € 2
(a) TSR, YeRh] 3T 3Tl

(b) TSR 3R Heit
(c) TSR, 3Te] 3R 2HI
(d) ST 3R et

A basket of vegetables contains Carrot, Potato, Sweet potato, Radish, Tomato and
Brinjal. Which of them represent the homologous structures ?

(a) Carrot, sweet potato and potato
(b) Radish and carrot

(c) Carrot, potato and tomato

(d) Brinjal and radish

31/2/2 10



27. fdl B A A 3R SHER BE & Wid § TSRA aTelt Wb 0T 1 ue TRRad &Y forar
T 1 Afg U T SN H 1, 2, 3 TS 4 I 3ifehd A o [oIT el S, A Li, Le, Lr q@T
TS forReTT T Wel SHH SR &R 2

(@ 2,1,3,4
(b 1,2,3,4
(o0 1,3,2,4
(d 1,3,4,2 1

A student has traced the path of a ray of light through a glass slab as follows. If you
are asked to label 1, 2, 3 and 4, the correct sequencing of labeling £i, Ze, Zr and
lateral displacement respectively is

(@ 2,1,3,4
(b 1,2,3,4
(o0 1,3,2,4
d 1,3,4,2

28. Tt Brepmiia s & foom @ oA arctl verer foRor 1 a SmfEd e % WA § g 8
T VT S o ey femeor
(a) ATafad YT & TR & |
(b)  3ufda fohoT =l feom & T & |
(c) Torafer g Tosm & Udet WHT t 31 g St & |
(d) Torafer g fosm & HiE R =i 31X g8 St € | 1

31/2/2 11 [P.T.O.



In an experiment to trace the path of a ray of light through a triangular glass prism, a
student would observe that the emergent ray

(a) 1s parallel to the incident ray.
(b) 1is along the same direction of incident ray.
(c) gets deviated and bends towards the thinner part of the prism.

(d) gets deviated and bends towards the thicker part (base) of the prism.

29. Ig f¥meT WA 15 cm BT QU o ITCT oIF I WIS H o Teheh &9 W 42.7 cm
o W T € SR AR B A, B, C 3R D @ U< 3! Ul o 0 39 et &1 371 H¥eh
T & T Fed & N9 W e W a8 987 B Uit U8 WX R & Wi & Sy |
IR BT FRT et T ferfaat 39 v €

A. 1277 cm

B. 29.7cm

C. 577cm

D. 7277 cm

TS o T et g e o €
(@ A

(b) B

(c0 C

(d D

A teacher sets up the stand carrying a convex lens of focal length 15 cm at 42.7 cm
mark on the optical bench. He asks four students A, B, C and D to suggest the position
of screen on the optical bench so that a distinct image of a distant tree is obtained
almost immediately on it. The positions suggested by the students were as :

A. 127 cm
B. 29.7cm
C. 577cm
D. 7277 cm

The correct position of the screen was suggested by

(a A
(b) B
(c) C
(d D

31/2/2 12



30. IE B fohdt gl Xt wiekd g, fordt e foma o wfdfawsr ot fover ol @1 fewem @, gl
¥ 20 cm 30 W A U8 W Rk ek T AT § | i X0 ® -

(a) 10 cm I I F Tt TF

(b) 20 cm HIHT I I IAA G

(¢) 10 cm HIHH I T 3Feldel FU0T

(d) 20 cm HIHT I HT AT FUUT 1

A student determines the focal length of a device ‘X’ by focusing the image of a
distant object on a screen placed 20 cm from the device on the same side as the object.
The device ‘X’ is

(a) Concave lens of focal length 10 cm

(b) Convex lens of focal length 20 cm
(c) Concave mirror of focal length 10 cm
(d) Concave mirror of focal length 20 cm

[a¥a

31. FHAfaREd W fOER ST
() T e
) WA
(I) TRY T qA
(V) fwares
(V) W& O
(VI) TREe & dA
T Y FohIhT SUFNT Qe S H fehar ST el & 2
(a) L II I, VI
(b) 1II,V, VI
(¢) IL1II,V, VI
(d) II, 1, VI 1
Consider the following oils :
()  Mobil oil
(IT) Castor oil
(III) Turpentine oil
(IV) Kerosene
(V) Mustard oil
(VI) Coconut oil
Which of these can be used for preparation of soap ?
(a) L II I, VI
(b) 1II,V, VI
(¢) IL1II,V, VI
(d) II, 1, VI

31/2/2 13 [P.T.O.



32.

33.

31/2/2

IS BT ST T WLV T8 S & (1T T @l & foh T & A geTe o foIw qarad i a1
ST € | T8 A U o WG S FHCTAT ST 39 STe o |1 Ta 31k & ST U i &

() ™
(b)y TAFTAH
(c) FTTAH
(d) ="

A student is testing water to know which is best for cleansing purposes with soaps. He

would find that the cleansing action of soaps is best when he uses water obtained from
(a) rain

(b) tap

(c) hand pump

(d) pond

TN gRT SUFNT fhT ST aTe STehieT QAT 5 STFRT & dTelT TGIE € —

(a) Wit FANES

(b) TR ErEgiTES

(c) Witead TRgHIES

(d) URREH FAES

The chemical mostly used in the preparation of most of the soaps we use is
(a)  Sodium chloride

(b) Potassium hydroxide

(¢) Sodium hydroxide

(d) Potassium chloride

14



34, 3UT oG & W § ol foe Rl & forw widfe gft A S & W 8 w5 o
15 cm FIoE T 1 I 7 AT hal TETe forar o o & 20 cm T W T@a ¢ i 39
U5 TR A AT & | T ITE] o for H €RgR o) ¥ T o S § R & AR
Tfcfe i 0% TR HH Tl § |

(a) WfAafeT =l WIhEd I & o0 98 Is I foh 3T TXHIAT & — o 1 3T el o 9
I

(b) fdfer o WEST § 1 IREc il § 2
(c) oG H o fehat 30 W Y@ W fawel o7 —1 3Tere ot Ufdifera UTed &la & 2

(d) SIE-SE foe o9 9 g 9T €, U8 W S WAt B el § R YR T URed g
g9 2

To find the image distance for varying object distances in case of a convex lens of
focal length 15 cm, a student obtains on a screen a sharp image of a bright object by
placing it at 20 cm distance from the lens. After that he gradually moves the object

away from the lens and each time focuses the image on the screen.

(a) In which direction-towards or away from the lens does he move the screen to

focus the object ?
(b) How does the size of image change ?
(c) Approximately at what distance does he obtain the image of magnification —1 ?

(d) How does the intensity of image change as the object moves farther and farther

away from the lens ?

35. I B 30 {aaerd #t TR § UHifed 3Tt o TUTHHT T 3T Y @ & | S Al
Hifereh TTUTEHT SR T TGRS TOTEET G SR, S UeIUT ek 39 U Alegsh o
foa =T | 2

A student is studying the properties of acetic acid in his school laboratory. List two
physical and two chemical properties which he must observe and note in his record
book.

31/2/2 15 [P.T.O.



36.

31/2/2

TE DI T STANTR T & T8 Tehed STep § &1 HATd W il & 27R- Sieh ol 31f&dea qaTe
ST & 2 30 STR B Yt & fIw 3 ufehar 61 v 3 3ifam =Ror 3 Wiees 59Tt |
3G T I ool HINTT STHY TE Tisham TRT gl € |

In which asexual reproduction two individuals are formed from a single parent and the
parental identity is lost ? Draw the initial and the final stages of this type of

reproduction to justify your answer. Write the event with which this process starts.

16



MARKING SCHEME Code No. 31/2/2

CLASS X - FOREIGN

Expected Answer/ Value point Marks Totd
SECTION-A
Q1. Butane , C4H1 Yo, Y2 1
Q2. Water melon, papaya (or any other correct example) Yo, %2 1
Qs. Because producers (plants) have the ability to trap solar energy with the help of
chlorophyll . 1 1
Q4. Virtual/ erect /smaller than the object ( any two ) 2X Y2 1
¢
1 1
Q5. 1) Air /water / noise/soil pollution
i) Lossof bio diversities because of deforestation
iii) Nuclear radiation emitted by nuclear power plants
iv) Acidrain/ globa warming 4x Y2 2
Q6. The Government had to rethink their priorities in the use of forest produce and
change their forest policies, this ensured a stable availability of the forest
produce to the villagers. 1
It led to efficient management of forest and also resulted in conservation of soil
and water which ultimately benefitted the local people. 1 2
Q7. a)Functional group — hetero atom or group of atoms attached to the carbon
chain ,which gives specific properties to the compound, is called a functiona
group 1
i)Aldehyde group ii) Carboxylic acid Yo, %2
b) Acetic / Ethanoic acid isformed.It is an oxidizing agent %, % 3
Q8 EthanOI, C2H5OH /CZHGO 5, %
C,HOH ->CH,=CH, +H,0O 1
Ethene Yo
Role of conc H,SO,~ dehydrating agent Y 3
Qo. a) Configuration— 2,8,2 Y
b) Metal, asit can easily loose el ectrons (from outer most orbit) Yo, v
XY X Z
2 2 21 Ya
Compound - XY XZ, Yo, 3
Foreign —31/2/2 Page 2



Q10. i)Aim of classification—systematic study of the known elements
ii)Basic property—Atomic number
iii)Properties of the elements are a periodic function of their atomic numbers.
iv)Metals on the | eft
v)Non-metals on the right.

vi)Metalloids at the border of metals and beginning of non-metals 6X Y2 3
Q.11 i)Each pieceregeneratesinto anew planaria 1

ii)Its filaments breaks into smaller pieces/fragments and each fragment gives 1

rise to a new filament.

iii)It releases spores which germinate into new mycelium in moist conditions. 1 3
Q.12 i)Stamen and Carpel Yo, Yo

ii)located in the flower Y

iii)carpel is made of three parts— the bottom swollen part is ovary ,

middle elongated part is the style ,terminal sticky part is stigma. 3X Y2 3

Q13. Two major processes namely formation of gametes and fusion of gametes
constitute sexual reproduction 1
Significance—i) Incorporates the process of combining DNA from two
different individual s during reproduction.
ii) Increases genetic variation.
iii) Promotes diversity in the offsprings.
iv) Playsarolein the origin of new species. A V> 3

Ql14. i) Speciation— origin of new species from pre—existing ones. 1
i) Genetic drift is flow of genes from one population to another by
chance factor or randomly .Over generation it will accumulate 1
different changesin different population
i) In addition, natural selection operates differently in different
population selecting the fittest /favorable feature in both the
population. Over a long period of time the differences in the two
population may became so drastic that they no longer reproduce with

each other and thus give rise to new species. 1 3
Q15. e Dominant trait Recessive trait
i)Thetrait which appearsin the i)the trait which remains 2x1
F1 progeny, is dominant hidden or which does not appear

in the F1 progeny is the recessive
trait.
ii)It appears in more numbers. ii)It appears in less number.

o 75% of the plants were with round seeds. 1 3
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Q16. Convex mirror

Yo

1
Use of convex mirror—as rear view mirror in vehicles Ya
Why—always gives erect image with large field of view 1 3
Q17. Advanced sunrise — When the sun is slightly below the horizon light rays
coming from the sun travel from the rarer to denser medium layers of air
because of atmospheric refraction of light, light appears to come from a higher
position above the horizon. Thus the sun appear earlier than actual sunrise 1
Delayed sun set — Same reason as similar refraction occurs at the sunset / OR
Apparetit position
of the Sun J_.w*_
Atmosphers 1
Twinkling of stars— the light coming from the stars gets refracted several times
before reaching the observers eye. Due to change in physical condition of the
atmosphere the light sometimes reaches the observer and sometimes it doesn’t,
hence they appear to twinkle 1 3
Q18. (i) Fossil fues take millions of years in their formation, hence are 1
exhaustible/need to be conserved to provide energy for alonger duration /
sustainabl e devel opment
(i) Waking short distances use of public transport/ where possible switch
off unnecessary lights / repair of faulty water taps/use of efficient 1
appliances/ promotion of solar energy/any other correct option (any two)
(iii) concerned about natural resources /environment /assertive/or any other
(any two) 1 3
Q19. 2
f =-25cm;  h =10cm; v=-20cm, u="?
1 1 1
Lensformulae — =———
vV u A
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vf —20cmx —=25cm

= U= =
f —v  —25cm—(-20cm) 1
=@=—1000m
-5 Y5
\Y; —20cm
h, =—x =————x10cm = +2cm erectimage
2 h, —100cm - 1

N 2 5
Q20. a) Reasons - i) Pea plant is small and easy to grow.
ii) A large number of true breeding varieties of pea plant are available.
iii) Short life cycle.
iv) Both self and cross pollination can be made possible
(‘any two reasons) 2X Y2
b) Contrasting characters ;
Round /Wrinkled seeds
Tall/Short plants
White /purple flowers
Green/ yellow seeds (or any other) (any two) 2X Y2
¢) When Mendel crossed two pea plants with a pair of contrasting characters 1
only one character appeared in all the members of F1 progeny, the others
remain hidden .
On selfing F1, the hidden characters reappeared in just 25% of the offsprings 1
and the other 75%shared the characters expressed in F1.
Mendel concluded that the character which expressesitself in Fland in 75%
of the individuals of F2 is dominating while the other is recessive .(or same
thing can be explained by using an example) 1 5
Q21. &) Definition of Dispersion: Splitting of white light into seven constituent
colors by aprism. 1
Cause of dispersion — when white light passes through a glass prism, different
constituent colors bend through different angles with respect to the incident ray
and hence are separated. 1
b)
Raindrop
Sunlight
Red
Violet
2
Conditions for observing arainbow --- i) after the rainfall/ at a water fountain
ii) sunisat the back of the observer
Yo, Y% 5
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Q.22

fa=10cm; f, = 15cm; f.=20cm
U =10cm; u, =20cm; us=30cm
a m=-1means u=2f, forA —»u, ,forB -»us 3x ¥
b) Mirror B or C — distance should be less than focal length for erect
and magnified image , face is generally kept at a distance more than
10cm 3xY

N 11 5
Q23. e Vegetatitive propagation is the development of a new plant from the
vegetative parts/ roots ,stem and leaves of a plant 1
e Advantages- i) such plants can bear flowers and fruits earlier than those
produced from seeds
ii) Allows propagation of plants (banana, orange etc) that have lost capacity to
produce seeds.
iii) All plants produced are genetically similar to the parent plant and hence
have all its characters. 3x1
e Jasmine, banana Yo, %2 5
Q24 a) Solution BlueLitmus Red Litmus Sodium Metal
Paper Paper
Ethanol No change No change Hydrogen gas 1
Ethanoic acid Turnsred No change Hydrogen gas 1
Soap No change Turns blue Hydrogen gas 1
(full credit may be given to the candidate with the answer showing test only
with litmus paper)
b)  Hard water contains calcium ions or magnesium ions or both. These ions
on reacting with soap solution forms insoluble substance called scum. 1+1 5
SECTION-B
25)a 26) b 27)c
28) d 29) c 30) d
3Db 32) a 33)c 9x1 9
Q34. a) Towardsthelens
b) Size decreases gradually
¢) Nearly 30 cm from the lens
d) Intensity of theimage gradually increases 4X Y% 2
Q35. Physica properties- i) smell like vinegar, ii)colourless liquid 2x1/2
Chemical propertirs — i) turns blue litmus red, ii)gives brisk effervescence
with sodium carbonate. 2x12 2
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Q36. Binary fission

Ya
Initial stage final stage,

2X Y2
process starts with elongation of nucleus Y 2
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